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e = 2012 =Z 0l &t 2012 =0 &t g &
At E 0] 3,306,200 4,221,000 -914,800
N e 1,833,200 2,740,000 -906,800
SHSME S 40 1,833,200 2,740,000 -906,800
WE2H 49 85,000 63.000 22,000
nNs2Y 9 85,000 63,000 22,000
NEX &2 -0l & =2 140,000 140,000 0
NETHA2H 0l E 2 140,000 140,000 0
SHITMAIEZ 2 190,000 190,000 0
HHI A AR T2 99,000 99,000 0
iz 91,000 91,000 0
JIEtotErE 2 22 1,058,000 1,088,000 -30,000
J|Eratet B 3 4=0) 1,058,000 1,088,000 -30,000
A=Y 7,432,635 7,774,120 —-341,485
=3AE2 7,015,584 7,324,500 -308,916
wnENs| =23 2,550,000 2,750,000 —-200,000
JIEt=10X33 2,549,589 2,881,500 -331,911
NNH X &= 1,915,885 1,693,000 222,895
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= = 2012 =30 & 2012 =0f &t 2

JIEtNIEZ 417.051 449,620 —32.569
gelg XA = 10 10 0

WHI2AHXNES 10 10 0

MM KES 287,031 319,600 -32,569

JEHXI &2 130,000 130,000 0

HYRI RS+ 20,070 20,070 0
de=s+9 50 50 0
SIS 10 10 0

StUSIAHYZ 10 10 0

ElamipjReeFSRsli=, 10 10 0

= AIHE2AZ 10 10 0

Jetagd= 10 10 0

RS+ 20,020 20,020 0
LEDIRZ 10 10 0

ANEIRS 20,000 20,000 0

SE=PIE = 10 10 0

2E 2l 54,060 29,060 25,000
23 22 54,060 29,060 25,000
Ol Xt==2] 52,050 27,050 25,000

L7 =T 0/ 10 10 0

JEt2E 2=+ 2,000 2,000 0
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- B = 2012 =& 0l & 2012 =0l & s &
SREs+Y 20,070 20,070 0
NS 30 30 0
X)I2BNEUS 10 10 0
Ex23384 10 10 0
J|EFE AF ot 2=2 10 10 0
ST AOH2 10 10 0
JIEFR & XHAON 24 10 10 0
RE AN 20,010 20,010 0
RIS TH A 042 20,000 20,000 0
JIEHR & R AR 2 10 10 0
JIEHI RS XAk 4 20 20 0
SESIELEFS- 10 10 0
JIEI2eE LY 10 10 0
fgs 62,020 62,020 0
b 62,020 62,020 0
A BEZ 4 62,010 62,010 0
JIEF DB I 10 10 0
DIESSIPNE=, 5,876,749 3,661,267 2,215,482
AsS=eSH 16,771,804 15,787,607 984,197




